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Question 1
Question Type: MultipleChoice

What statement about floating public IP addresses in the Nuage Networks environment is CORRECT?

Options: 
A- They are managed by enterprise admin users.

B- NAT is performed for the traffic leaving the enterprise domain and entering the public network.

C- Once a floating IP is configured on the vPort, the VM will stop using its enterprise private IP address.

D- There can be more than one floating IP address associated with one vPort.

Answer: 
D

Question 2
Question Type: MultipleChoice



What three main components comprise the Nuage Networks VCS solution?

Options: 
A- VSD, VSC, and VSG

B- VSD, VSC, and VRS

C- VNS, VSC, and VSG

D- VNS, VRS, and VSG

Answer: 
B

Question 3
Question Type: MultipleChoice

What statement regarding VSC deployment is TRUE?



Options: 
A- VSC can be deployed in standalone mode or in high-availability cluster mode.

B- VSC can only be installed as virtual machines.

C- VSC is based on SR OS, and thus can be integrated module on the 7750 SR.

D- XMPP is used to synchronize the active and standby VSCs.

Answer: 
D

Question 4
Question Type: MultipleChoice

Refer to the diagram.





What is the correct sequence of events for a VM to be instantiated, and for its required network connectivity to be created with the

Nuage VCS solution?

a. Network domain and policy templates are defined on VSD. b.

VSC queries VSD on network service and policies. c. VSD provides VSC with network service and policies. d. VRS agent informs VSC

of the new VM placement. e. VSC deploys policy to applicable VRS agents. f. VM instantiated on the hypervisor.

Options: 
A- a->b->c->d->e->f

B- a->b->c->f->d->-e

C- a->f->d->b->c->-e

D- f->d->b->a>c->-e

Answer: 
D

Question 5
Question Type: MultipleChoice



What is NOT a function of VRS?

Options: 
A- VXLAN tunneling

B- Detecting VM events

C- DHCP and ARP proxy

D- Libvirtd

Answer: 
B

Question 6
Question Type: MultipleChoice

Which protocol is used for VSC federation?



Options: 
A- BGP VPN-IPv4

B- BGP EVPN

C- Openflow

D- XMPP

Answer: 
C

Explanation: 
The VSC uses standard protocols to peer with existing networks, allowing it to discover full network topology and reachability. Through

Openflow, it distributes relevant switching and routing information to hypervisors within the virtualized datacenter network.
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